Pard 1+, vetky, vath o f

Ve = 3 Cos (Wt + ‘ré"? i

, 6
=2-_nF E:QM Wz » w=2aT y2xlo

ZC:. ,__,!-—————-: __,I_-—————-—-—“'—"—"_—Tq_—

Jwe J'xl,ﬂ)@?"oé A% 22=xlo
i 3, Zs
Zc: ____E____-—-——————"B(__ -—d L 446'0
A p lo)uo X\o
Vsth = 3 cos(wi+4s7) ’
—5 PL\C{SQY‘ VS — /__4—5",_ . )J' Tf/‘r
- = e

Zeq = 9+ Ze= 2-) = VB [-26.56 = 22442265

I. Vs il _ 1,34 L F156° B
Zeq 227 /o2656

ey = Re[Te™] = L3¢ cos (Wt + ?‘1.6‘60)

VC’ =1xz,= 1. 7>4'/._7’1.550X 1/-% = 1.34 /- 18.44°

Ve (hh=Re [ V. €JWJCJ: 194 gos(Wt= 18.‘f‘r°)

Vo = TxZg = | 34 ) 71.56°x2= 2. 6% L F1.56°

Ve (H= Re [Va.e“*]=2.68cos(wt+71-56)



